)
)0

—_

Ho

_(ﬂ

FAA x2 -5x+6=0,x2-9=0

12

o

=
T

@ x=0 ® x=2

D x=-3

® x=9

@ x=3






|
r
o
A
ol

A

x2 4+ bax+6 =

34

e

3.

@ 2 ® 3 @ 4 ® 5

D1



10|

N



OJZAFYA A 2x2 + mx—3 =0, x>+ x+n =09 F&U 7} x = -3

o, m+ n o] G272

1o n

® -11 @ -1 @1 @ 8 ® 11



O|ZPLAA x2 —2%kx -3k +4=00°] FZLS7HA o, o}& F«k
It S a 9 Fhol A AR Ag BF 1=2H?

27]
QO k=-1 © k=0 © k=
® a=-1 @ a= ® a=

0,6 26,6 006 ®0oe 06,6



ORI A (x—a)? — b(b > 0) o) S7} x — 8 T x — -2 2 0, b
o g2 Poteler.

D a=-3,b=-25 @ a=-3,b=25

® a=3,b=-25 @ a=3,b=25

®a=3,b=5






o] 27 o]tk

i
B

@
k=—6©]

)
k=-109]

® k

n_rt
~K
oy
il

j—

25

il
B!

0 °]

ol 17 o]tk

o] girt

il
e

@
k=2 0]

il
B

®
k=4 0]



O|FHAA 2 4 2+ A=02 2O x=2FE= x= -4 A2



